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Note for Examinee:   
i) This is an objective type question paper.  

ii) This question paper consists of 25 questions. You have to attempt only 20 

questions. Each question carries 2½ marks.  

iii) Each question has four alternatives, only one of which is correct. Mark the correct 

alternative on the question paper itself by putting the tick mark √ in the box given 

against it. ON COMPLETION, IT IS COMPULSORY FOR YOU TO SUBMIT THIS 

QUESTION PAPER TO YOUR INVIGILATOR. 

1. How you will separate benzoic acid from the mixture of benzoic acid and 2-naphthol?  

 (i) Using ether – 5% HCl                 (ii) Using ether – 5% Na2CO3 

 (iii) Using ether – 5% NaHCO3          (iv) Using ether – ethanol 

2. Ferric chloride test is commonly used for identification of …… . 

 (i) alcohols                 (ii) amines 

 (iii) phenols           (iv) aldehydes and ketones  

3. How you will isolate naphthalene and p-toludine from their mixtures? 

 (i) Using ether – dil. HCl                       (ii) Using ether – aqueous NaOH 

 (iii) Using ether – aqueous NaCO3         (iv) Using ether – Ethanol 

4. Hinsberg test is used to: 

 (i) differentiate between primary, secondary and tertiary amines                   
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 (ii) differentiate between primary, secondary and tertiary alcohols                   

 (iii) differentiate between aldehydes and ketones                             

 (iv) differentiate between primary, secondary and tertiary alkyl halides                   

5. Which of the following is not a source of caffeine? 

 (i) Tea leaves            (ii) Coffee seeds 

 (iii) Cola nuts                 (iv) Groundnuts 

6. TLC is an example of: 

 (i) adsorption chromatography              (ii)  partition chromatography 

 (iii) ion exchange chromatography          (iv)  gas chromatography 

7. In a paper chromatogram the distance moved by the solvent front is 10 cm and the 

distance moved by the centre of the solute zone is 7.5 cm. The Rf value will be: 

 (i) 0.70              (ii) 0.75          

 (iii) 1.75            (iv) 0.80 

8. Ninhydride is used to detect: 

 (i) reducing sugars          (ii)  nonreducing sugars         

 (iii)   amino groups        (iv) amino acids 

9. The stationary phase used in the column chromatography for the separation of 

pigments from green leaves is…….. . 

 (i) anhydrous calcium carbonate          (ii)    anhydrous sodium sulphate          

 (iii)   anhydrous sodium carbonate            (iv)   anhydrous calcium sulphate  

10. Which of ion has higher absorptivity on alumina? 

         (i) PO 3
4
            (ii)  Cr2O
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 (iii)   Cl-          (iv) S2- 

11. Aniline can be estimated by: 

 (i) bromination method          (ii)   oxidation method         

 (iii) chlorination method           (iv) nitration method 

12. Phenol can be estimated by: 

 (i) acetylation method           (ii)   oxidation method         

 (iii) chlorination method           (iv) nitration method 

13. End point in titration of glucose with Benedict’s solution is detected by: 

 (i) appearance of red precipitation due to formation of CuO          
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 (ii)  appearance of brick red precipitation due to formation of Cu2O 

 (iii) appearance of white precipitation due to formation of  of CuCNS      

 (iv)   appearance of dark blue colour due to presence of copper sulphate 

14. Glycine can be estimated using: 

 (i) formylation method           (ii)  acetylation method 

 (iii) bromination method          (iv) esterification method 

15. Formaldehyde can be estimated by using: 

 (i) sodium hypoiodite solution          (ii)  iodine solution        ;  

 (iii) bromine solution                          (iv)  chlorine solution 

16. Iodine value is defined as the number of grams of _____ absorbed 100 gm of oil or fat: 

 (i) iodine          (ii) KOH            

 (iii)   oxygen            (iv) chlorine 

17. Iodine number depends on the number of _______ present in the molecules. 

 (i)   double bond          (ii)   hydroxyl group         

 (iii)   amino group        (iv)  aldehyde group 

18. EDTA used in complexometry titration is a _________ ligand. 

 (i) monodentate           (ii)  didentate           

 (iii)   tridentate          (iv)  tetradetate  

19. NH3-NH4Cl buffer has pH _________. 

 (i)  3 pH          (ii)   6 pH        

  (iii) 10  pH        (iv)   12 pH 

20. Commonly used coupling agents in preparation of azo dyes are: 

 (i) aromatic carboxylic acids          (ii)   aromatic aldehydes 

 (iii) aromatic ketone             (iv)   aromatic amines 

21. Salicylic acid reacts with acetic anhydride to form aspirin. If the percent yield in this 

reaction is 80.0 %, what will be the theoretical yield of aspirin if actual yield is150.0 g? 

 (i)  187.5 g           (ii)   180.5 g        

  (iii) 190.5 g          (iv)    170.5 g 

22. Monomers of nylon 66 are: 

 (i) adipic acid and hexamethylenediamine 

 (ii) adipic acid and pentamethylenediamine 

 (iii) adipic acid and heptamethylenediamine  
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 (iv) adipic acid and 1,3-butanediamine 

23. How many moles of EDTA are needed for the complexion of one mole of magnesium 

ions? 

 (i) 1 mol           (ii)   2 mol              

 (iii)   3 mol           (iv)   4 mol 

24. Isocyanide test is used for the identification of ________: 

 (i) phenols            (ii)  amines           

 (iii)  carboxylic acids         (iv)  Ketones 

25. 2.75 g of acetylsalicylic acid (Aspirine) was obtained from 2.4 g of salicylic acid. 

Calculate % yield, if the theoretical yield is 3.6 g. 

 (i) 50%             (ii)   55%            

 (iii)   60%              (iv)   76% 
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foKku Lukrd (ch-,l lh-) 
ekpZ ijh{kk 2021  

ikB~;Øe dksM: lh-,p-bZ-12(L):    ikB~;Øe “kh’kZd:  jlk;u foKku ç;ksx'kkyk-V (ØsfMV: 4) 

le;: 1 ?k.Vk               vf/kdre vad: 50 

Ñi;k fuEufyf[kr fooj.k nhft,% 
vuqØekad la[;k vadksa esa  
         

vuqØekad la[;k 'kCnksa esa  
         

ijh{kk dsUnz dksM 

      
 

fnu vkSj fnuk¡d……………………………….. 

 

ek/;e (vaxszth/fgUnh)………………………… 

ijh{kkFkhZ dk uke……………………………….. 

ijh{kkFkhZ ds gLRkk{kj…………………………… 

fujh{kd ds gLrk{kj……………………………. 

dsoy ewY;kadudrkZ HkjsaA% 
çkIr vad…………………………………….. 

ewY;kadudrkZ ds gLrk{kj …………………. 

ewY;kadudrkZ dk uke……………………….. 

ewY;kadudrkZ dksM:……….…………………. 

 

  

 

…………………………………………………… 

ijh{kk v/kh{kd dh eksgj dsUnz dksM ds lkFk  

ijh{kkFkhZ Ñi;k uksV djsaA :     

  

i) ;g ,d oLrqfu’B izdkj dk iz”u i= gSA  

ii) bl iz”u i= esa 25 iz”u gSaA vkidks bu esa ls dsoy 20 iz”uksa ds mÙkj nsus gSaA izR;sd iz”u ds 
2½ vad gSaA  

iii) izR;sd iz”u esa pkj fodYi fn, x, gSa ftuesa ls dsoy ,d fodYi lgh gSA lgh fodYi pqudj 
mlds lkeus ckWDl esa √ fpg~u yxkb,A  

iz”uksa ds mÙkj nsus Ik”pkr~] iz”ui= dks vius fujh{kd dks tek djok vfuok;Z gSA 

 
1- csUt+̈ bd vEy vkSj 2&us¶FkkWy ds feJ.k ls csUt+ksbd vEy dks dSls vyx djsaxs\ 

(i) bZFkj-5% HCl ds mi;ksx ls  
(ii) bZFkj vkSj -5% Na2CO3 dss 

mi;ksx ls 

(iii) bZFkj vkSj -5% NaHCO3 dss 
mi;ksx ls 

(iv) bZFkj vkSj ,FksukWy ds mi;ksx ls 

2- Qsfjd DyksjkbM ijh{k.k dk mi;ksx lkekU;r% ----------------- ds vfHkfu/kkZj.k esa djrs gSaA  

(i) ,sYdksgkWy 
(ii) ,sehu 

(iii) QhukWy 
(iv) ,YMhgkbM vkSj dhVksu 

3- p-VkWywMhu vkSj uS¶Fkyuh dks buds feJ.k ls dSls vyx djsaxs\ 

(i) bZFkj vkSj ruq HCl ds mi;ksx ls  

(ii) bZFkj vkSj tyh; NaCO3 ds mi;ksx ls  

(iii) bZFkj&tyh; NaOH ds mi;ksx ls  

(iv) bFkZj vkSj ,FksukWy ds mi;ksx ls  
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4- fglUcxZ ijh{kk dk mi;ksx djrs gSa% 

(i) izkFkfed f}rh;d rFkk r`rhd; ,sfeuksa ds chp foHksnu ds fy, 

(ii) izkFkfed] f}rh;d rFkk r`rh;d ,sYdgkWyksa ds chp foHksnu ds fy, 

(iii) ,sYMhgkbM vkSj dhVksuksa ds chp foHksunu ds fy, 

(iv) izkFkfed f}rh;d rFkk r`rh;d ,fYdy gSykbMksa ds chp foHkosnu ds fy,  

5- fuEufyf[kr esa ls dkSu&ls dSQhu dk izeq[k lzksr ugha gS% 

(i) Vh iRrh  
(ii) dkQh lhMl 

(iii) dksyk uV~l 

(iv) xzkmaam uV~l 

6- Vh-,y-lh- ,d mnkgj.k gSa% 

(i) vf/k”kks’k.k o.kZysf[kdh 
(ii) ikVhZ”ku o.kZysf[kdh 

(iii) vk;u fofue; o.kZysf[kdh 
(iv) xSl o.kZysf[kdh 

7- ,d dkxt+ ds o.kZys[k esa foyk;d vxz }kjk r; dh xbZ nwjh 10 cm gS vkSj foys; {ks= ds dsUnz 
}kjk r; nwjh 7.5 cm gSA Rf dk eku ifjdyu dhft,A  

(i) 0.70 

(ii) 0.75 

(iii) 1.75 

(iv) 0.80 

8- fuugkbfMªu dks ------------ dh igpku ds fy, djrs gSa% 

(i) vipk;d “kdZjk  

(ii) vuvipk;d “kdZjk 
(iii) ,ehuksa 
(iv) ,ehuks vEy 

9- gjh ifÙk;ksa ls o.kZdksa dks LraHk o.kZys[kh ls i`FkDdj.k ds fy, fdl fLFkj izkoLFkk dk mi;ksx 
djrs gSa\ 

(i) futZy dSfYl;e dkcksZusV  

(ii) futZy lksfM;e lYQsV 

(iii) futZy lksfM;e dkcksZusV  

(iv) futZy dSfYl;e lYQsV 

10- ,syqfeu ij fdl vk;u dh lokZf/kd /kkfjrk gksxh\ 

(i) PO 3
4
  

(ii) Cr2O
2
7
  

(iii) Cl- 

(iv) S2- 

11- ,sfuyhu dk fu/kkZj.k -------------- djrs gSa% 

(i) Ckzkseksfudj.k fof/k ls 
(ii) vip;ksip; fof/k ls 

(iii) Dyksjhdj.k fof/k ls 
(iv) ukbVªhdj.k fof/k ls 

12- QhukWy dk fu/kkZj.k -----------------djrs gSa% 

(i) ,slhfVyhdj.k fof/k ls  

(ii) vip;ksip; fof/k ls 
(iii) Dyksjhdj.k fof/k ls 
(iv) ukbVªhdj.k fof/k ls 
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13- Xywdksl vkSj csusfMDV foy;u ds vuqekiu esa vaR; fcanq dh igpku dh tkrh gS% 

(i) CuO ds yky vo{ksi.k ds cuus ls 
(ii) Cu2O ds yky vo{ksi.k ds cuus ls 
(iii) CuCNS ds vo{ksi.k ds cuus ls 
(iv) dkWij lYQsV ds mifLFkfr ds dkj.k xgjk uhyk jax cuus ls 

14- Xykbfll dk vkdyu ---------------djrs gSa% 

(i) QkWfeZyhdj.k fof/k ls 
(ii) ,slhfVyhdj.k fof/k ls 

(iii) czkseksfuhdj.k fof/k ls 
(iv) ,sLVjhdj.k fof/k ls 

15- QkWeSZfYMgkbM dk vkdyu ----------------djrs gSa% 

(i) lksfM;e gkbiksvk;ksMkbM ls  

(ii) vk;ksMhu ds foy;u ls 
(iii) czksehu foy;u ls 
(iv) Dyksjhu foy;u ls 

16- vk;ksMhu eku 100 gm rsy vFkok olk }kjk vo”kksf’kr ----------- ds xzkeksa dh la[;k gksrh gS% 

(i) vk;ksMhu 

(ii) KOH 

(iii) vkWDlhtu 

(iv) Dyksjhu 

17- vk;ksMhu dh la[;k ----------------- ij fuHkZj djrh gSa% 

(i) f}&vkca/kksa  

(ii) gkbMªksfDly lewgksa 
(iii) ,ehuks lewg 

(iv) ,fYMgkbM vEy 

18- EDTA dk mi;ksx ladqyfefr vuqekiu ,d dk rjg djrs gSa% 

(i) ,dy nUrqj  

(ii) f}&nUrqj 

(iii) f=&nUrqj 

(iv) prqj nUrqj 

19- NH3-NH4Cl ds cQj dk pH gS%  

(i) 3 pH 

(ii) 6 pH 

(iii) 10 pH 

(iv) 12 pH 

20- lkekU;r% ,st+ksMkb ds cukus ls iz;qDr ;qXeudkjh gSa% 

(i) ,sjkseSfVd dkcksZfDlfyd vEy 

(ii) ,sjkseSfVd ,fYMgkbM 

(iii) ,sjkseSfVd dhVksu 

(iv) ,sjkseSfVd ,sehu 

21- lSfyflfyd vEy ,slhfVd ,UgkbMªkbM ls vfHkfØ;k dj ,fLijhu cukrk gSA ;fn bl vfHkfØ;k 
esa izfr”kr yfC/k 78.5 % gS] v©j bl vfHkfØ;k ls 150.0 g ,sfLijhu izkIr g¨rh gSA vkisf{kr 
yfC/k dk ifjdyu dhft,A 

(i) 187.5 g 

(ii) 190.5 g 

(iii) 180.5 g 

(iv) 170.5 g 

 
 

7



 

22- ukbykWu ds ,dyd gSa% 

(i) ,sfMfid vEy vkSj gsDlkesfFkyhu,sehu 

(ii) ,sfMfid vEy vkSj isUVkesfFkyhuMkb,sehu 

(iii) ,sfMfid vEy vkSj gsIVkesfFkyhuMkbs,ehu 

(iv) ,sfMfid vEy vkSj 1]3&C;wVsuMkb,sehu 

23- ,d eksy eSXuhf”k;e ds lkFk ladqy cukus ds fy, EDTA ds fdrus eksy dh vko”;drk gksxh\ 

(i) 1 mol 

(ii) 2 mol 

(iii) 3 mol 

(iv) 4 mol 

24- vkblkslk;ukbM ijh{k.k dk mi;ksx ----------- ds vfHkfu/kkZj.k esa djrs gSa% 

(i) QhukWy 

(ii) ,sehu 

(iii) dkcksZfDlfyd vEy  

(iv) dhVksu 

25- 2.4 g lSfyflfyd vEy ls 2.75 g ,slhfVy&lSfyflfyd vEy ¼,sfLijhu½ izkIr gksrk] izfrf”kr 
yfC/k dk ifjdyu dhft, ;fn vkisf{kr eku 3.6 g gS% 

(i) 50% 

(ii) 55% 

(iii) 60% 

(iv) 76% 
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